BRE NEE =pd LLIAZIR BER
B | B | B | B | I’z | B | B | B8R | B | B
PSS F 147 6 362 | 3.5 147 6 54 2 36 | 3.5
Z F | 3MI 4 541 2 147 6 441 3 147 6
WEBF | 241 5 4411 3 147 7 54 2 3fi 4
it 15 8.5 19 7 13.5
I=Eiva 2 4 1 5 3
(FERIIEAIER]
147 211 3fiz 441 541
RESEF 6 3.5 2
£=4 + 6 4 3 2
IWEBF 7 5 4 3 2




RILRARFERE (%RXD) ~2HEAERTR~

TH2s% 8H 148(E 3 HA) .
XY 14X A4t
% 53 % Hwyh— BB
1 F71EERAEBREHGIEEGRE—F
B R £ B X 2
RAGER) if’;;g H 5 R
BEBF 5 2 =R
BEHER
ZF 5 2 =R
T
LEBF 5 2 =
BEHER

C & &KX B ~ D

< anfi




